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And anyone who cannot guard her Get, cannot be divorced

Overview

The mawn (which the X ma cites here) states that a woman who cannot guard her v
cannot be divorced. There is a dispute between *"w1 and N501N whether this means
(*"w") she cannot be divorced even if her father receives the va, or ('01n) only if she
receives the va.

= VIV NINY 29D NPAN »19 DY XD NNNY 7 HY KD 2090393 W29
>'"w9 explained that one who is not capable of guarding her v3, cannot be divorced,
neither through herself (receiving the v3), nor through her father (receiving the

1)), since she is like a W (an idiot) -
= DN NN DNDYNM (3,57 97 mnad) WIN PI93 1309010 NVIYI

And in 291 92 we exclude a 7w from receiving a v3, from the exposition of the

"2 An2WY P09, that only one who is sent away and does not return, can be divorced
but not a 7T who is sent away and returns. This concludes >"w"5.

NvOIN continues:
= 1157 DY XD NPAN 7Y RY HYNNN NN NV MNIYD NPT NIORY NIVP 30T 2aY 15 ON)

So therefore according to this °"v"o a 71w who does not know how to keep her

v, cannot be divorced neither through her father nor through herself. She must
remain married until she is 703 MAWH NYTY.

mooin disagrees with >"wAo:
= AN P DY NYNNN NIVPT WD 9INMI 29

And »'1 explained that a 71u2 can be divorced through her father (even if she is

0% DR MY 79197 71°K), however not ¥y "y -
= INDININ NI MDD NYNNN NN NVIV DYV NN 0NN 9NINRPT DV HINI N2

And he brings proof from the "»%219° 750, for it says there, ‘what is the reason
that a 7w cannot be divorced; it is a dispute amongst the 2oR"12N -

It will become evident (in this maoN) that 7w NX WS 7915° 71X means that she cannot be counted on to respect
the finality of the divorce, and she can no longer be with her former husband.

2530,

3 See w"wn that when *"wA is citing the X793 in N1 that is regarding a MW who is a 7173, therefore MpoN adds that
presumably the same applies to a P who is 70 DR MW7 72127 71X,

4 Others amend this to read 'n"~' (instead of n").

SX"77"0 Mn2 (in our MW it is on X,1W), WY,
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= 9P9NY NYINN D2aYWNI 1N XIYW ¥IT9 617999) DIUN 1IN 1N
One X71KX said because of 779393; meaning that people should not be drawn after

her, to make her promiscuous -
= 7HANMNY WIT NV NN NNIYY NDID NINY DIVN 1IN M)

And another X7mX said because she cannot guard her v; meaning that she
returns back to her husband.

- 999 NN 11222 KIIN 1119392 IN SY2)
And the n5w17° asks there, ‘what is the difference between these’ two reasons,

and answers, there is a difference between them regarding three issues’ which are -
= 2N DINY NVIY DINY NV NNPYY DI AR NY Y W Y3y

a) ‘He transgressed® and divorced her; b) she has a father who can watch her

v3; ¢) occasionally she is a 7w, and occasionally she is normal’. This concludes

the citation from the nbw17 -
= VYNNI N9 DIV 99NT ]N)ﬁb Y9 92y 05 1929 YYD

And the n"'1 explained the three differences. In the case of w952 93w, according to

the one who says she cannot be divorced because of 79593, she is nw=w» -
= 729572 Y9V 7133970 NON 599907 RIIDIN NN M1 KT 11907

For since this prohibition of n99x1 is only 11397%, therefore 72w372 she is divorced -
- VAN NN NINNY NNYYNT DIVM ININT 10NnY

And according to the one who says it is because of namm mbwn, she is not

divorced -
= 793972 999N NON HNNIINT NNOIN IND "7 194

For since this is a 770 prohibition it is forbidden even 7ap>73. This explains the

first difference. Regarding the second difference, where -
= 137550555 AWD 90N 19993 DIVN IMNT INPY 12719 NNYY DI AN 1Y Y

She has a father who can watch her w3, so according to the 7'"'» that it is on

account of 77993, he is not permitted to divorce her initially -
- HYHNN NYINNIY IPAN HITNY INYYNT DIVN 9INT INPYY

But according to the 7"» because of namym mn>wn, he can divorce her even
79N -

6 7773 literally means dragging; she will drag people for illicit activities.

7 See previously in this 'o1n and %21 7"7 >"wA.

8 The husband violated the rule of not divorcing her and he divorced her.

 We are concerned that if she is divorced they will be 757 3731 72 3mi1. However Xn™IX 77 it is a valid va.

10 The 5"wnmn amends this to 18191 (instead of 1x17).

'1'We derive it from the P15 of bWy

12 This is the case which is relevant to the discussion here in our X723,

13 See later in this N19o1n for a more definitive explanation why he cannot watch her for 77> but can see to it that 71X
nanm.
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= 9NN NOY N99YN HYARY 29Y HINN NN 1Y
For this woman is not n977, since her father guards her that she should not

return to her former husband. Regarding the third difference where she is -
= ANNIY NYIND 90N N929) DIVN 9INRT INNDY NN DINY NVIV DINY

Sometimes a 72 and sometimes normal, according to the 792 2wn 7''%2, he

is forbidden to divorce her 7902 -
= 9RO XN N2 NN NNDT

For perhaps they will conduct themselves with her in a 92577 372 in the times when

she is a nvW; however -
= MYN NIIYW AYIMIY NN NN N HINNY NINYYUNT DIVN 99RT )Nbb

According to the namm arbwn awn 7', this one is not N 1 if he divorces her

when she is normal -
= 1990 XYY HYNY 9199

So he can divorce her when she is lucid. This concludes the explanation of the 517
according to the n"9. m»doIN concludes his proof the W7D of »'".
- SPYIIDTI WANNY N1 AR NY WIWA MIVPT MITUIVA TINN ¥IYUN 13 ON

Therefore it seems from the *»%2y7° that a 773u» who has a father can be divorced

as the n"1 explained the second case of the *n%u17°, namely where she is a 1w and —
- DURNN NINN ANTUNT DIV YNT INBY NV NN MIYY AN AY Y)

She has a father to guard her 3, so according to the namym arwn 2wn 7', she

can be divorced -
= 59N NINRY N99UN N2ARY HIIN NN NT

For this one is not n917, since her father guards her that she does not return;
the same would apply to a 711vp, proving that her father can accept her v, as the »"97 v17D.

mooIn anticipates a difficulty:
= MON N9 DIVNT OND MINPT 2N DY 9N

Even though the "n%u17 states there that according to the 7993 2wn "7 it is

forbidden to give her a v, so there is a view that the father cannot help to receive her v3, and
perhaps that is the final ruling?

mooIn responds:
= NN DIVINY DTN 22 MIND NY YWIY 29 NVIY NN ¥ND¥1a Y99 9N

When were these words said (that 710X 77772 27wn) only by a mature woman who

is a M, for she has lust and people are chasing her to be promiscuous -
= 119%9) DIVN YN XN DIPN DN NINN NIINY ) 1137

14 See w"wA that 19173 means a 77v1 (otherwise if she is a N33, how can her father be 7w 2pn).
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For granted that she will not return (for her father can watch her), but

nevertheless there is the concern of 19393, since she is an adult -
SNV Y95 UNNRY XYY NIND N INDT NIVPa YaN

However by a 1102 who has no mRn, there is no concern at all for 77°73 and she

can be divorced, through her father since he can make sure that she should not return to her
former husband.

Summary
"W maintains that a 71vp who is 77V°3 DR NMHWS 792107 719X, cannot be divorced at all,

while m»01n maintains she can be divorced through her father accepting the vx and
watching her that she is not nanm anbwn.

Thinking it over
When the mwn (cited in our X)) states "WANT? 72127 PR A0 DR MAWH 72120 PRY 207,
is that according to both the p"n and >" or only according to one of them?'?

15 See R"wmn.
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